
Ivy Top Decorative Panel
Panneau décoratif avec haut Ivy
Panel decorativo con parte superior 
estilo hiedra 

2a

Hardware Contents
Quincaillerie
Contenidos de componentes

A

B

2b

C

A

CBA

Angle Bracket
Support d’angle
Abrazadera escuadra

Horizontal Bracket
Support horizontal  
Abrazadera horizontal

#8 Phillips Screw
Vis Phillips no 8
Tornillos de Phillips #8

x 1 x 1x 6

1.Stake directly into ground 
or, if necessary, for hard 
ground dig holes in required
locations, place fence and 
back fi ll with soil. Do not 
pound post into soil.

 Enfoncer directement dans 
le sol ou si necessaire pour 
les sols plus durs creuser 
des trous aux emplace-
ments désirés, mettre la 
clôture en place et remplir 
les trous avec de la terre.
Éviter de frapper sur les 
poteaux pour les enfoncer 
dans le sol.

 Estaque directamente en 
suelo, o si necesario para 
el suelo duro cave agujeros 
en los lugares deseados, 
coloque la valla y rellene los 
agujeros nuevamente con la 
tierra. No clave el poste en 
el suelo usando un mazo.

2a. Insert 1 #8 Phillips
screw (A) into each side of 
angle bracket (B) for corner 
assembly of multiple screens.

Insérer (1) vis Phillips no 8 
(A) dans chaque côté du 
support d’angle (B) pour 
un assemblage en coin 
d’écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (A) en cada lado de la 
abrazadera escuadra (B) 
para un montaje en esquina 
de varias pantallas.

2b. Insert 1 #8 Phillips
screw (A) into each side 
of horizontal bracket (C) 
for straight assembly of 
multiple
screens.

 Insérer (1) vis Phillips no 
8 (A) dans chaque côté du 
support horizontal (C) pour 
un assemblage en ligne 
droite d’écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (A) en cada lado de la 
abrazadera horizontal (C) 
para un montaje recto de 
varias pantallas.

1

Phillips screwdriver
 Tournevis Phillips 
 Destornillador Phillips

Tools Required
Outils nécessaires
Herramientas necesarias

Owner's Manual

Version

1.0

Yard Accents
Installation Instructions
Instructions d’installation
Instrucciones de instalación

READ INSTRUCTIONS PRIOR TO INSTALLATION
LIRE LES INSTRUCTIONS AVANT L’INSTALLATION
LEA LAS INSTRUCCIONES ANTES DE LA INSTALACIÓN

YARDACCENTSBOM V1 2/13



Lattice Utility Screen
Écran utilitaire en vinyle 
Enrejado para uso general

Hardware Contents
Quincaillerie
Contenidos de componentes

C DBA

Angle Bracket
Support d’angle
Abrazadera escuadra

Horizontal Bracket
Support horizontal  
Abrazadera horizontal

#8 Phillips Screw
Vis Phillips no 8
Tornillos de Phillips #8

Galvanized Stake
Pieu galvanisé
Estaca galvanizada

x 1 x 1x 6x 4

1

2

A

B

3. Place screen in desired 
location by pressing 
stakes into soil.

 Placer l'écran à l'endroit 
désiré en enfonçant les 
pieux dans le sol.

 Coloque la pantalla en el 
lugar deseado apretando 
la estaca en el suelo.

4a. Insert 1 #8 Phillips
screw (B) into each side 
of angle bracket (C) for 
corner assembly of multiple 
screens.

 Insérer (1) vis Phillips no 
8 (B) dans chaque côté du 
support d'angle (C) pour 
un assemblage en coin 
d'écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (B) en cada lado de la 
abrazadera escuadra (C) 
para un montaje en es-
quina de varias pantallas.

4b. Insert 1 #8 Phillips
screw (B) into each side 
of horizontal bracket (D) 
for straight assembly of 
multiple
screens.

 Insérer (1) vis Phillips no 
8 (B) dans chaque côté du 
support horizontal pour un 
assemblage en ligne droite 
d'écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (B) en cada lado de la 
abrazadera horizontal (D) 
para un montaje recto de 
varias pantallas.

1. Remove galvenized  
stake (A).

 Enlever le pieu 
galvanisé (A).

 Retire la estaca 
galvanizada (A).

2. Insert 2 #8 Phillips
screws (B) into each fence 
post to attach stake (A).

 Insérer (2) vis Phillips no 
8 (B) dans chaque poteau 
d’écran pour fi xer le pieu 
(A).

Inserte 2 tornillos de Phillips 
#8 (B) en cada poste de 
valla para sujetar la 
estaca (A).

4a

B

C

4b

D

B

3



Decorative Ivy Screen
Écran décoratif Ivy
Pantalla decortivo estilo hiedra

Hardware Contents
Quincaillerie
Contenidos de componentes

CBA

Angle Bracket
Support d’angle
Abrazadera escuadra

Horizontal Bracket
Support horizontal  
Abrazadera horizontal

#8 Phillips Screw
Vis Phillips no 8
Tornillos de Phillips #8

x 1 x 1x 6

1 2a

A

B

2b

C

A

1.Stake directly into ground 
or, if necessary, for hard 
ground dig holes in required
locations, place fence and 
back fi ll with soil. Do not 
pound post into soil.

 Enfoncer directement dans 
le sol ou si necessaire pour 
les sols plus durs creuser 
des trous aux emplace-
ments désirés, mettre la 
clôture en place et remplir 
les trous avec de la terre.
Éviter de frapper sur les 
poteaux pour les enfoncer 
dans le sol.

 Estaque directamente en 
suelo, o si necesario para 
el suelo duro cave agujeros 
en los lugares deseados, 
coloque la valla y rellene los 
agujeros nuevamente con la 
tierra. No clave el poste en 
el suelo usando un mazo.

2a. Insert 1 #8 Phillips
screw (A) into each side of 
angle bracket (B) for corner 
assembly of multiple screens.

Insérer (1) vis Phillips no 8 
(A) dans chaque côté du 
support d’angle (B) pour 
un assemblage en coin 
d’écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (A) en cada lado de la 
abrazadera escuadra (B) 
para un montaje en esquina 
de varias pantallas.

2b. Insert 1 #8 Phillips
screw (A) into each side 
of horizontal bracket (C) 
for straight assembly of 
multiple
screens.

 Insérer (1) vis Phillips no 
8 (A) dans chaque côté du 
support horizontal (C) pour 
un assemblage en ligne 
droite d’écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (A) en cada lado de la 
abrazadera horizontal (C) 
para un montaje recto de 
varias pantallas.



Vinyl Decorative Screen
Écran décoratif en vinyle
Malla de celosia decorativa

Hardware Contents
Quincaillerie
Contenidos de componentes

C DBA

Angle Bracket
Support d’angle
Abrazadera escuadra

Horizontal Bracket
Support horizontal  
Abrazadera horizontal

#8 Phillips Screw
Vis Phillips no 8
Tornillos de Phillips #8

Galvanized Stake
Pieu galvanisé
Estaca galvanizada

x 1 x 1x 6x 4

1

2

A

B

4b

D

B

4a

B

C

33. Place screen in desired 
location by pressing 
stakes into soil.

 Placer l'écran à l'endroit 
désiré en enfonçant les 
pieux dans le sol.

 Coloque la pantalla en el 
lugar deseado apretando 
la estaca en el suelo.

4a. Insert 1 #8 Phillips
screw (B) into each side 
of angle bracket (C) for 
corner assembly of multiple 
screens.

 Insérer (1) vis Phillips no 
8 (B) dans chaque côté du 
support d'angle (C) pour 
un assemblage en coin 
d'écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (B) en cada lado de la 
abrazadera escuadra (C) 
para un montaje en es-
quina de varias pantallas.

4b. Insert 1 #8 Phillips
screw (B) into each side 
of horizontal bracket (D) 
for straight assembly of 
multiple
screens.

 Insérer (1) vis Phillips no 
8 (B) dans chaque côté du 
support horizontal pour un 
assemblage en ligne droite 
d'écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (B) en cada lado de la 
abrazadera horizontal (D) 
para un montaje recto de 
varias pantallas.

1. Remove galvenized  
stake (A).

 Enlever le pieu 
galvanisé (A).

 Retire la estaca 
galvanizada (A).

2. Insert 2 #8 Phillips
screws (B) into each fence 
post to attach stake (A).

 Insérer (2) vis Phillips no 
8 (B) dans chaque poteau 
d’écran pour fi xer le pieu 
(A).

Inserte 2 tornillos de Phillips 
#8 (B) en cada poste de 
valla para sujetar la 
estaca (A).



Corner Accent Fence
Clôture d’appoint en coin
Valla decorativa para esquinas

Hardware Contents
Quincaillerie
Contenidos de componentes

CBA

Angle Bracket
Support d’angle
Abrazadera escuadra

#8 Phillips Screw
Vis Phillips no 8
Tornillos de Phillips #8

Galvanized Stake
Pieu galvanisé
Estaca galvanizada

x 1x 6x 4

1. Remove galvenized  
stake (A).

 Enlever le pieu 
galvanisé (A).

 Retire la estaca 
galvanizada (A).

2. Insert 2 #8 Phillips
screws (B) into each fence 
post to attach stake (A).

 Insérer (2) vis Phillips no 
8 (B) dans chaque poteau 
d’écran pour fi xer le pieu 
(A).

Inserte 2 tornillos de Phillips 
#8 (B) en cada poste de 
valla para sujetar la 
estaca (A).

3. Stake fence directly into 
ground or, if necessary, for 
hard ground dig holes in 
required locations, place 
fence and back fi ll with soil. 
Do not pound post into soil.

 Enfoncer les pieux de la 
clôture directement dans 
le sol ou, au besoin, si le 
sol est dur, creuser des 
trous au préalable pour les 
pieux. Placer la clôture, 
puis remplir les trous avec 
de la terre. Ne pas tenter 
d’enfoncer les poteaux 
dans le sol.

 Estaque esquinas di-
rectamente en suelo, o si 
necesario para el suelo 
duro Cave agujeros en los 
lugares deseados, coloque 
la valla y rellene los agu-
jeros nuevamente con la 
tierra. No clave el poste en 
el suelo usando un mazo.

4a. Insert 1 #8 Phillips screw 
(B) into each side of 
angle bracket for cor-
ner assembly of accent 
fence. 

 Insérer (1) vis Phillips no 
8 (B) dans chaque côté du 
support d’angle (C) pour 
un assemblage en coin 
d’écrans multiples.

 Inserte 1 tornillo de Phillips 
#8 (B) en cada lado del 
soporte en escuadra para 
ensamblar la esquina de la 
valla decorativa.

1

2

3

4

A

A

B

B

C



© Barrette Outdoor Living • 7830 Freeway Circle • Middleburg Heights, Ohio • 44130
http://www.barretteoutdoorliving.com • 1-800-336-2383

YARDACCENTSBOM V1 2/13

Transferable Limited Lifetime Warranty

What is covered: Barrette Outdoor Living warrants vinyl and aluminum products to include; vinyl and aluminum fence, vinyl and 
aluminum railing and plastic lattice against defects or workmanship for as long as you own your home. Barrette Outdoor Living 
will at its option replace the product in question with new product of the same or equivalent value at no charge. Barrette Outdoor 
Living warrants these products against peeling, fl aking, splintering, corrosion, rusting or abnormal discoloration under normal 
use and service per ASTMD 2244. This warranty extends to the original purchaser or transferee as specifi ed herein on the 
products noted above. Separate and distinct warranties for hardware and other products are not covered under this warranty. 

What this warranty does not cover: This limited warranty does not cover damage resulting from accident, unreasonable use, 
neglect, alteration, improper service, improper installation, acts of God or any other causes not arising out of defects in materials 
or workmanship. Additionally, this warranty does not cover costs of installation, removal, reinstallation or surface mold and 
mildew created by excessive environmental conditions. Any service or repair provided outside the scope of this limited warranty 
shall be at Barrette Outdoor Living’s rate and terms then in effect.

What do we do to correct the problems? Should your Barrette Outdoor Living product prove defective under warranty, reference 
the website or call the phone number listed below. Your problem will be assigned a tracking number and an authorized Barrette 
Outdoor Living representative will contact you to arrange a convenient time to schedule an onsite inspection, or request pictures, 
if need be. If after inspection product is deemed to be manufacturer defect we will make arrangements to rectify the issue. You 
must have proof of your purchase in order for the problem to be corrected.

Transferee Coverage: Warranty coverage will be extended to one transferee on the above listed products with the following 
limitations. Transferee must obtain an original or copy of the initial sales receipt (with proof of date) from the previous owner(s). 
Additionally, if fence is purchased from a builder or installer, documentation must be supplied that names the product installed 
on property and date of transfer. 

THIS WARRANTY IS IN LIEU OF ALL CONDITIONS OR WARRANTIES, EXPRESS, OR IMPLIED INCLUDING BUT NOT LIMITED TO 
ANY IMPLIED CONDITIONS OR WARRANTIES OR MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE ON THE PART OF 
Barrette OR ITS LICENSORS, SOME STATES DO NOT ALLOW THE EXCLUSIONS OF IMPLIED WARRANTIES OR LIMITATIONS OF 
HOW LONG AN IMPLIED WARRANTY LASTS, SO THE ABOVE LIMITATIONS MAY NOT APPLY TO YOU. IF THE PRODUCT IS DEFECTIVE 
PER THE ABOVE COVERAGES, YOUR SOLE AND EXCLUSIVE REMEDY SHALL BE REPAIR OR REPLACEMENT AS PROVIDED ABOVE. 
BARRETTE AND ITS LICENSORS SHALL NOT BE LIABLE FOR ANY DAMAGES, LOSS OF USE, LOSS OF PROFITS OR INTERRUPTION 
OF BUSINESS WHETHER SUCH ALLEGED DAMAGES ARE BASED IN WARRANTY, TORT, CONTRACT, OR INDEMNITY. SOME STATES 
DO NOT ALLOW THE EXCLUSION OF LIMITATIONS OF INCIDENTAL OR CONSEQUENTIAL DAMAGES, SO THE ABOVE LIMITATIONS 
MAY NOT APPLY TO YOU. This warranty is valid only in the United States and Canada.

Refer to www.BarretteOutdoorLiving.com for specifi c details about warranty limitations.
1-800-336-2383

To register your product, please visit: www.barretteoutdoorliving.com/product-registration


